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The diagram shows a circle with centre O and chord "/i(.

Diagram not drat4)n to scale

The circle has aradius of 4'6cm anO;6f = tOO'.
Calculate the area of the shaded resion.
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Diegram not drawn to scate.

In triangle ABC ac = ns measured correct to the nearest degree.AC = 4'9 cm and AB = 3.S q6 6.th measured conect to iil"-o.*"o ,..
Find corect to three signifrcant figures, the greatest possible area of the triangle A.BC.
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c I The diagram ehows two triaaglcs ABC and ACD with the common side AC.

Diagran tnt fuavn to scale.
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/\
The Fiangles ,48C and ACD arc euch that BC = 32 cm, AD = 19 cm, CD = I cm, MC = 74" al.d

ADC =67".

/\
Find the eiz€ of lBC.
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Ihe diagram shows triangle PQ)R

Diagrarn not drawn to scale.

The triangle PQR is such that QR = 7.6cm, PR = l2'3cm and PQ = 8.2cm.
 

(a) Find the size of PQR.

t3l

(b) Find the area of triangle PQR.
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The diagram shows triangle GflI(.

Diagra.n not drawn to scale.

Given that GIl = 6-7 cm, GK = 5.6cm anO GfA = a8o, calculate the area of the triangle GII(.
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